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&o (1) (a +2) = a + 6 + 12a + 8

(2)(2a - b) = Sa - 12ah + tab - l

(3)(x +4)(x - 4x + 16) = x3 + 64 ,

(4) (5x - 22) (25x + 189 +4) = 1253 - 89

(5)(x +2y((x - 2xy + 422 = (x+ 873)

= x + 163y + 649
,

Ro(7)(3 + 2) = (x + 3)(x- 3x + 9)

(2) 8a3 - 27l = (2a - 3h)(4a + Gah + gh)
,

(3) 64x8 - y = (4x - y)(16x+ 4xy + 24)

= (2x + 2)(2x - y)((bx+ 4xy+ y4)

= (2x + y)(2x -y)(4x+ 2xy + y2)(4x- 2xy +y) ,
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= x + xx) + 15x* + 20x3 + 15x + 0x + 1

(2)(a - b)
*

= a -Gh + 15a* -2 + 15au" - Gaut + ab
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= n20 + 2n) + .. + 2 m(
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= (2x + 1)(2x+ x + 1) + 1

F
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(2) 2x - 3x - 10

= (2x+4x + 5)(x -2) ~
- 4 - 8 - 14

: x - 2
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-

-



* (1) A = (x- 2x - 1)(2x - 3) - 2x

= 2
-1x + 4x - 2x + 3

= 2x
- 7x + 2x + 3 /

(2)(x* + 7x- 9x - x + 3 = B(2x + x -3) + 6x

B (2x+ x - 3) = 6x*+x - 9x - 17x + 3

:
. B = 3 + 2x - 1

(2x + x -3)(3x+ 2x -1)

= 6x4 + (4 +2)x + (2 - 2 -9(x +...
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= 2x +41

&To (2) (4)

#Ro (7) a = 2
, h = 4 , a = 1

29 + c = 4

(2)a = 1 , m = 4 , 2 = 4
-2a + c = 0

2c = 4
(3) a = 1

, b = 2

C = 2

(4n
-2a +2 = 0

a = + 1

u =- 1

-

(a+(c + ( -2a + c(x + (a -a+

a + k = 0 122 + c = 0 la-h + c = 4

: a = 1
, h= 1

, c = 21



IBo(a +hi + (a -a)

=za" + 29

= 2(a + 4) I

140 (1)
- (ah + ac + (a)

=

- ah - h(- a -b) - a)- a -b)

= + b + a + al

:. + ah + a = - (ak + hc +ca)

(2)a(h + x) + e(c +a) + (a + a) + 3ahc

= - - l + (a+h)3 + 3ah)- a -a)

= & H
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=

- h = ab
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-
160 xy + 12 - 4x - 34

= (x - 3)(y -4))
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.
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10 (7) a + 11-69

= (a - 3) +2
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110(2)4 - 3h(4a - 3b)

= (2a - 3h) = 0

: 42 =34(49 -3a) #

#15 2a-3h = e

(3) + zah + 2

= (a + u)2 + m = 0

:a + zah + 2l =0

X* it a = b = 0

(4)2(x + 3y2) - 5x7

= 23 + 6y - 5x]

= 2(x- )+ 0
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F 111x = y = 0
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= ga + 16h - (9a + 16 + 24a)

=- 24h e

Stationo sta +i

↓ Satol < 3 + 10th
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** I1# It a = 3
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= 2 + 2 + 4 . 2 +t

= 4 +2
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= 25 + 144
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